EARAROBEEIERT — 2 N— IBISH —F

2018%F3A31H () 23m{£E5H

INMC2—9# C2 ¥5%4m®L (xwlw | lmEmml - |5 @) o 8
[AE£] 1% :210,000” ~ 27%:48,000” ~ 337%&:19,000 ™ . 43%&:11,000 " 57 :6,000 0
BB mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. = HH 132, -10-8- . - ImEEA (B8
1 g ANYFNFTRE— # o6 | M 1(3_2)1 10-10-8-4 | 38.8 2 :%7) *ﬁé;“ (E%)
LnN—=v9734 B:ZAXYFIIN—) (B) HBEa-KL—-ra>aEI7
3 25 4 5 | MAER 1:32.6 4-4-3-3 [39.9| — 4 432 | WEE (£8)
2|8|10| T~ ANT— 54.0 (2 1/2) o | By PN
R:Fa5> 40 B:TdAN—Ta 1 405
TIEEN AEBE—R : -0 — JBEZF (58)
3189 =TV tX o4 ?4.0 1(.33/%4.)7 rat 402 ° 2357) AR R 1 .
LN=Y774 B:ky bR AR R
.. HrhE A . —1-1- — FHIEAE (1£%)
4 AT H o4 56.01_ 1(.13/22.)8 1-1-1-2 | 40.5 9 (4_776) ad
LY KYTYIRIX BNXIAT—Ta AR
N PN e :33. -9-10- . — ettt (1£%)
5 6|71 >XRT) 2T o4 7:53.0 (11 313/21) 9710710 1 39.3 6 f_ﬁ‘; () A3 .
L:7A7% B:T7URETPTHAL [A=EEse ]
[iim}2 :33. —6-5— . = KIEHR (£E)
61111 *B7/N="F 4 U 1(73?:)2 6-6-5-5 | 40.3 1 (i?g) A "
RN=YI54 B:LT4v—4AK TATA 77— L
. _ s : —7-6- - THERE (E8)
717lg| TVEIS V- 8wt W | ’ g?; mHEE
v IRy b BiIVET4F—L IVHILTERI AN
S = 3250 3 : -8-9~ - IWTFEX (ER)
glzl7| 724 0rx>5-5 i 4 L (11.313/.5 8-8-9-8 | 40.4 10 fsz) 4 é
L:7Rv4vaV—-> B:LTFTaTIL 28 @A
9 o|FrdUnvzy b i 5 séz_E(H)JIIE-;‘a 1;(324).2 3-3-4-6 |41.5| — 7 447 ﬁx”aa'ciﬁ (t£%)
RBALTATv— B:F>d9T5% v b (-1) B Hs
5 it 5 | WTHRE 1:34.7 5-5-7-9 | 41.6| — 8 480 | KEAE (I£R)
10/5|5| TFHE-—FX 54.0 @ 1/2) 4 |=BHE
LAy agyLayy B4ty bOo-—FK e
® 1 — @B
1T=7r= 4,9,2,10,5,1,8,7,6,3
2a=5F= 4,9,2,10,5,1,8,7,6,3
Ja=5= 4,9,10,2,1,8,5,3,7,6
43—+ — 9,4,10,3,1,2,8,7,5,6
[ /N
B 3 350M 714K 3-10 490M B 3-8 590 JEE 3-9-10 4,750
B B 3 130H4 3-9 520M B & &0 2,340H JEE 3-10-9 20,5904
10 260M 9-10 1,080M B E 3-10 1,950
9 220M

ABICOVWTRDTEEERROODE. TR LIV,




